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| - Write the definkion of each of the following : (4 marks)
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2 - Complete the following statements : (12 marks)
1 - Water and mineral salts are absorbed through...............inthe.......... of the root

2 = The.......cciinicisaiin plant is surrounded by two guard cells

3 - The membrane of the root hairs has................. which allows some salts to pass through
4= The...ecreeeeprocess in the plant creates pressure that raises water upwards
5 — Root hairs have a big.......c.cocoeeic that contalns:: o asniis

6 - In plant root, the cortex layer is followed by........cccceuue..e layer, then.........cccceoensune layer
7 - The root hair is lined from....................owith a thin layer of . ...

8 -The root is extended and divided through the soil............to..........the plant in the soil
g - The root hairs secrete........cnmrirninsrsrsnees to help the root to penetrate the soil particles
10 — The transmission of water from the soil to the vacuole of the root hairs occurs by.......
11 —Xylem tissue rises Water to.......ocoereeviresnans T MO e A i ey and.......ooveeens

12 - The high concentration of salt solution means that it contains...........coevven, evenee AMMOUNE

of water, so the solution has........coocooeoveevnnnnnn. 0 water

13 — Mineral salts are transmitted from the soil to the root hairs by......c.ccooeiviciicnne, :




3 - Give reason for each of the following : (8 marks)

1 - Green plants need some raw materials in the presence of light ?.........ccccooiiiiiiiniiinces

3 - The age of root hairs doesn't exceed few days 7.......ccocviviinnimic e
4 — Root hairs secrete a sticky subsStance ?..........co e
5 — Root hairs have selective permeability 7 ... s s s
6 - Root hairs can absorb water from the 501l 7.

7 - Presence of holes (stomata) on the lower surface of the plant leaves ...

8 — The concentration of the salt solution inside the root hair vacuole is higher than the
conCEntration OF SOl BOIIEIONIE. (..coupimmeisisvn nsminimsiisss byssrassss s s riprmssss i isvsay beasessseds

4 - What happens when : (7 marks)

1 - The two guard cell of the stoma can't change their shape ?.......ccccvvinicvrnsivsssin e

4 - The root hairs don't secrete sticky SubStanCes 7. ... ... sesrarssseiessssesers




5 — The wood tissue disappears from a plant Z........ccoooiime s

6 — The concentration of salt solution of the soil is higher than the concentration of salt

7=Aplant keptindarkforalong time 2. i i i e s i

5 — What is the function of: (5 marks)
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b - Put () or (x) then correct the faise statement : (5 marks)
1~ The root hairs have thick walls

( ees)
2 - Epidermis layer regulates the passing of water to the xylem

[ R |




4 - Stomata are surrounded by two woody cells

{ o
5 — Calcium, potassium and zinc are necessary for the plant’s life

{ coeee)
1 - Choose the correct answer : (5 marks)

g N A I WETDRE TN s risiminsamimsss pabbhrn i mrmb  aned m  brm i hmas d  mpnsba

AL llowers C. stem
B. root hairs D, leaves
2 - Water rises from root to stem through...........ciaiiisms s sesiss s smsans layer
A, Epidermis C. cortex
B. endodermis D. wood

3 — The energy needed for absorption of mineral salts comes from the...................process

A. transpiration C. osmosis
B. photosynthesis ). respiration

4 - Transpiration is a bio-process, where the plantis...........oe water
A. absorbing C. losing
B. gaining D. (A) .(B) and (C)

5 = The root hairs form.........ccc.coeniiaenee membrane that facilitating the absorption process
A. sticky C. thin
B. watery D. (A) and (C) are correct answers
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